HeEREHGRFEN—RR
1. BEYMORBTFHR

TR 28F4F1HEE

e =R /.t B E E OH OGFE B H Bl [:2] = AP g ® A ® A T R A

T TREBRBXEIFRBEREF ) ME F F &K HHBH F F & H F OH B F OB

B A2 OKM@EBE DG & PomBE)( & € @ & H|( BH F @ & ) m & ) m & )

30mMURDED 8,000M 8,000 14,000 13,000M 12,000/

30MZ#BA. T00MUADED 15,000 15,000M 16,0004 16,000M 15,0004

100mMZ&#BZ. 200mMLRDED 23,000H 23,000 22,000 20,000 20,000

200mMZ#BZ. 500nMLADED 29,000M 29,000 29,000 28,000M 28,000

500m%i8Z. 1,000mMLRDED 51,000M 51,000 49,000M 45,000 46,0004

1,000mMZi#8%. 2,000mURDED 71,0004 71,0004 67,000M 60,000/ 63,000

2,000m%i#8Z.10,000mURADED 212,000M 212,000MH 157,000/ 135,000 151,000

10,000m =%, 50,000mMLADED 333,000M 333,000M 241,000M 209,000M 235,000M

50,000mMZBABED 647,000 647,000 488,000 427,000 482,000

*x FHEZEZ T 25AE ZTEICARDIEDDOKREIR]2£9 % (REEIIEINT SI5EIIBINT S5 5D)

* BEn, KIREDER, KREDREEX IARZEEDSAIEHRICHRIMBIDKREENT 28T D

* HEERFERICMRDETEICEMEHRDREZRIT LA DN H DG EHRRGEFEND] 2895

* BT TIRER HELRICRIPERESHIIORAZE TRITERYDT TIREETD

2. BERIRRU TIFYOBREFE

<3 £ B 1 F A E-1E [:2] = AP T ® A ® A T R A

ol Bl % F B BB F F H OB F OB M F M

BERB(ILAR—9—RUIZAL—5—) 14,000 7,000M 18,000 17,000H 16,000/

BRI ERFRE) 7,000M 4,000 10,0004

TEY) 12,000 6,000M 13,000 13,000H

3. EERFFAIF TN

X F B B

IREFIESE 120,000M

BERDALEDIEE 50,000

EEASRLEVESEA 33,000M

HMERERETIC K 2 —HHDEHIERE BEME 20N 78,000
M 3L E 78,0003+ (28,000 2i#8#1)

IRERERMDEF AT SRR AICDOE) 20,000
3RZEBAZEN 120,000M




